Sample Test Packet

Mechanics Program

As part of the Selection Process you will be required to test and receive a passing score on
the following:

* Mechanical Concepts

* Precision Measurement
¢ Electrical Aptitude

* Applied Technology

*  Work Attitude

This packet, which includes sample test questions from some of the above topics, has been
provided for your review.

Additional sample test questions for Applied Technology are available at:
www.act.org/workkeys/assess/sample.html




General
Instructions

You are about to take a test of mechanical under-
standing. The test is made up of three short tests: Me-
chanical Interrelationships, Mechanical Tools and De-

‘vices, and Spatial Relations. Each test has its special
instructions, which you should read carefully. There is no
~ time limit on this test, but it is typical to spend ten to fif-

teen minutes on each section.

This Is a carbon-insert test booklet, so no separate
answer sheet Is provided. Mark all vour answers in the
iest booklet. For 2ach item, you are given from two to five
alternatives, labeled A, B, C, D, and E. You are to indi-
cate your answer by marking an X in the appropriate
answer boy for each item: [&]. If you wish to change your
answer, diaw a clrcle around your first answer and
then mark your new cholce. Do NOT erase any answer

vou have marked.

Yewr scora on this test Is based on commect answers
anly. You are not penallzed for wrong answers; so if you
are od sure of an answer, make the best cholce you can,

Try not o lzave any ltems blank.
Ara there any questions?

Copyright & 1976, 1586 Vangent, Inc.

WARNING: copyright protection Includes but is not limited to
prohibition against copying, reproducing, or modiiying these
materials withoul the prior writlern consent of Vangan, Inc.,
4250 N. Fairfax Drive, Suile 1200, Arfington, VA 22203
1-800-822-7343 www.vangent-hem.com

Mechanical
Interrelationships

Directions

This is a test designed to see how well you can understand and
Interrelate mechanical concepls. This section consists of plctures that
depict mechanical movernents and model interrelationships. You
must answer the items on the basls of vour understanding of the con-
cepts being shown.
ook at the sample itemn below:

5.

B1. The belt connecting the two !denilcal pulleys In this llustration
has been crossed. This will result in

A, anincrease inthe speed of pullew A ...............l
B®. an Increase in the speed ol pulleyB ... ...ovvvvvnen -,
L. atum of one pulley in the opoosite divectien . ......... H
2, no change in puliey speed or divection .. .. .. R |

The comect answer is alternalive C. An X has been placed In the
box marked C.

Mow try these sample ltems, In 2ach prablem, place an X Inthe
box comesponding to the correct answer,
S5

82. Which one of these stools Is most likely to be steady on an
uneven surface?

A, Aoneleggedstool ... ... . ... e wae
B. Atwoleggedstool ................... e s B
C. Athreelegged stool .........civviiiiiiiiienin .8
D. Afourleggedstoel ........ooiiiiiiiiii i
E. Asixlegged stool .................... A i E
53,
.-ij
_‘ld 5
4‘ A

83. Several workers roll & 500-pound barrel up each of the five
ramps shown, Which ramp requires the least amount of waork?

A.Rampl ... N -1
B. Ramp2 ...... vesanmn Nem a1 n PR <1
C.Ramp3 ............... S a s
D.Rampd .................. R ML LR m
R 2. ®

You should have marked the box labeled C for item 52 and the
box labeled E for ltem S3. Do you understand how to mark the
sample fiems? f not, do the samples again.

Are there any questions?

When the examiner gives the signal, you may begin. When you
have finished this section. wait for further instructions. DO NOT GO
ONTO THE NEXT SECTION,



RAMSAY CORPORATION JOB SKIULS

PRECISION MEASUREMENT - FORM ARL
INSTRUCTIONS

This is a test of your ability to measure, inspect, and follow directions. On the following pages is a
series of questions. You are to read each question and select the best answer below the guestion. Then
blacken the letter of the correct answer on the blue general purpose answer sheet. Do not write in the
test booklet. Now lock at the Practice Exercises below. Note the way in which the answers are marked on
the sample answer sheet,

Practice Exercises
H. The gauge below shows a reading of I. Measure the following.
A, 0. .
B. 50 ﬂ:li! |
C. 100, |
E. 200.
A, 1f2'
B. %
c. 1
D. 1'%
J. What is the length of X in the diagram below?
Ak —t2— —112—
B. 1
c. 1Y X
D. 1%
E 2 b 2 /
SAMPLE ANSWER SHEET
A B CDE
Ho ¢ e @ o
A B CD E
Lo @ @ @ &
A B CDE
Joeooo

Now do the 60 exercises on the following pages. Do not write in the test booklet. You may do
your work on the scraich paper provided. Do not begin until you are told to do so,

Puliished by
ROLAND T. RAMEAY, PhO.

RAMJ/AY CORPORATION

1050 BOYCE ROAD
PITTEBURGH, PA 15241-3%07
COPYRIGHTS15%8, 2007
Printed In LU.S.A.



RAMSAY CORPORATION JOB SKILLS

ELECTRICAL APTITUDE TEST FORM EAR-C
INSTRUCTIONS

This is a test of electrical aptitude. On the following pages are problems like the ones below. Do each problem
and then mark your answer on the answer sheel. Do not write in the test booklet. MNow look at the practice
exercises below. Nole how the answers have besn marked. Do not turn the page until you are told to do so.

Practice Exercizse W Practlce Exercise X
Solve for x. Trace the line from left to right to determine the
letter at the endpoint. What is the endpoint of line 47
J+x=5
B. 2 [ ————
C. 3 @ i‘ _-_*©
D 4 @-—-lu— . r@

5 L — SN

Practice Exercise Y Practice Exercise Z
To move liquid from Tank 410 to Tank 420 you should In order for the connection to be complete, the

current must pass through three contacts in exactly
the following order O@®. Which conneclion Is
complete?

BUPPLY

Y s - ———

ol

A. open valve A. D. h-

B. openvalve BE.
C. open valve C.
D. open vale D.

A B CDE

wWao @ @@

A B CDE

Xooed @

A B CDE

YO Q@ @@ @

A B CDE

z 2 0@ @

Now do the 36 exercises on the following pages. Do not write in the test booklet. Work as fast as

you can without making mistakes. You will have 18 minutes to finish the test. Do not begin until you are
told to do so.

Publishad by
ROLAND T. RAMSAY, Ph.D.

RAMJ/RY CORPORATION

1050 BOYCE ROAD
PITTSBURGH, PA 15241-3807
COPYRIGHTS2003
Printed in LLS.A.



APPLIED TECHNOLOGY

Example A

An employee must connect a videocassette recorder {VCR) to a television in order to play a
recording of the company’s new television advertisement. To set up the equipment properly, the
audio (sound) and video (image) cables must be plugged into the correct input/output jacks,
which are similar to the ones shown in the diagram below. Both the VICR and the television
accept a separate audio signal for each of two speakers.

[ VIDEO  [~AUDIO-]  ANTENNA
O ?_ ouT CL) u:;* -
O o o o @ O ©® O
R IN — L N ANT. ViDEo  Laupio
VCR Inputs/Qutputs Television Inputs

After connecting the audio, video, and power cables, the employee plays a videotape to test the
installation. The sound comes through the built-in television speakers, but the screen displays
random snow. The employee must know what to check first to identify the problem,

Solution:

The employee must first understand the operation of the video signals traveling from the VCR’s
video output jack to the TV’s video input jack and the operation of the audio signals traveling
from the VCR's audio output jack to the TV's audio input jack (that is, the function of two
\rarmblw} He or she must determine from the sign of trouble (random snow) which component
is faulty: the audio connection or the video connection.

This mmple is at Applled Teclmology Lwel 4 because of the following:

Level 4 Characteristics | Example A PR Y
The problem involves one moderately | VCR, television, audio in and out, video in and
 complex system with five components: out, antenna )
The problem involves the interaction of two | Video signals travel from the VCR’s video
variables: output jack to the TV"s video input jack, and

audio signals travel from the VCR’s audio
output jack to the TV's audio input jack.
Employees must apply less obvious basic “Random snow” indicates the problem is video
principles (of electricity): rather than audio.

Employees must identify the best solution The sound is working, so the audio connection
 after getting rid of other unsuitable options: | can be eliminated as a source of the problem.

© 2003 by ACT, Inc. Permission is gramed for WorkKeys® Awborized Profilers 1o copy this page for profiling use.



APPLIED TECHNOLOGY

Example B

An employee works for an industrial services company that has been hired to deliver a small but
heavy gearbox. The container is too small to justify renting a large truck and too heavy for the
company’s pickup truck. The employee decides to rent a heavy-duty utility trailer and pull the
trailer with the pickup truck. The employee must know where to place the gearbox so that the
trailer will support the load for safe and easy towing,.

oL@ -— oo——

Solution:

The employee must first understand that the wheels of each axle on both the trailer and the truck
need to maintain adequate traction for safe and easy towing and that the load should be supported
by the two axles of the trailer. He or she must then eliminate load positions that would tip the
trailer (positions 1 and 5) or that are away from the middle point between the axles (positions 2
and 4). Using this process, the employee should recognize that position 3 provides the best
support for the load.

This example is at Applied Technology Level 4 because of the following:

[r——— e -

_ Level 4 Characteristics | Example B e
' The problem involves two simple systems | The truck and trailer are interacting with each
| working together to create a moderately | other.

- complex system: |
 Employees must understand the operation of a | The wheels of the truck and trailer need proper

mndemtely complex system: | weight balance for traction, safety, and towing
ease.

Empluym must apply less obvious basic Positions 1 and 5 would tip the trailer

principles (of mechanics): (leverage); positions 2 and 4 would cause too
much of the weight to rest on a single axle

[ (forces). ot :

Employees must identify the best solution Position 3 would allow the weight to rest on

| after getting rid of other unsuitable options: both axles of the trailer. o

© 2003 by ACT, Inc. Permission is granted for WoekKeys® Authorized Profilers 1o copy this page for profiling use.
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